
WESTOVER, INC 13305 B STREET OMAHA, NEBRASKA 68144 T:877.927.8679WWW.ARTOS.US.COM
©2020 ed. All technical and pricing information is subject to change without prior notice. To confirm accuracy check with Artos customer service.

I N S T A L L A T I O N  G U I D EF 8 0 2 A - 2 T K
kascade floor mount tub filler



WESTOVER, INC 13305 B STREET OMAHA, NEBRASKA 68144 T:877.927.8679WWW.ARTOS.US.COM
©2020 ed. All technical and pricing information is subject to change without prior notice. To confirm accuracy check with Artos customer service.

O P E R A T I N G  S P E C I F I C A T I O N SF 8 0 2 A - 2 T K
kascade floor mount tub filler

FEATURES
Integrated Hand Shower
Integrated Controls 

OPERATING PRESSURE
Minimum: 15 psi
Maximum: 75 psi
Above 90psi it may be necessary to install a pressure 
reducer

OPERATING TEMPATURE
Maximum: 176°

FLOW CAPACITY
6.25 USGPM

APPROVALS



S P E C I F I C A T I O N SF 8 0 2 A - 2 T K
kascade floor mount tub filler

WESTOVER, INC 13305 B STREET OMAHA, NEBRASKA 68144 WWW.ARTOS.US.COM T:877.927.8679
©2020 ed. All technical and pricing information is subject to change without prior notice. To confirm accuracy check with Artos customer service.

37 - 3/4"

9"

4"

1" - 2"

7/8"



 STEP 1

O P E R A T I N G  S P E C I F I C A T I O N SF 8 0 2 A - 2 T K
kascade floor mount tub filler

 STEP 2

WESTOVER, INC 13305 B STREET OMAHA, NEBRASKA 68144 WWW.ARTOS.US.COM T:877.927.8679
©2020 ed. All technical and pricing information is subject to change without prior notice. To confirm accuracy check with Artos customer service.

WOOD BLOCKING SHOULD BE A 
MINIMUM  3” X 6” CROSS SECTION TO 

ENSURE STABILITY

MIN 1-1/8"

MAX 2"

FINISHED FLOOR SURFACECut off plaster guard leaving
the top edge about 3/8" above 
the finished floor.

1. Remove M6 X 12 Bolts.
2. Remove Flange & Discard.

*this flange to be discarded 
as it isn't required to 
complete installation

3. Remove Blank Plugs Cover.
4. Pull Out The Blank Plugs.

M6  BOLT

FLANGE

BLANK PLUG COVER

BLANK PLUGS

LEVELING SCREWS

Saw Blade or hacksaw

*To be discarded



 STEP 3

O P E R A T I N G  S P E C I F I C A T I O N SF 8 0 2 A - 2 T K
kascade floor mount tub filler

WESTOVER, INC 13305 B STREET OMAHA, NEBRASKA 68144 WWW.ARTOS.US.COM T:877.927.8679
©2020 ed. All technical and pricing information is subject to change without prior notice. To confirm accuracy check with Artos customer service.

Use S6 Wrench (supplied) to rotate the inner core 
until the hot side is facing towards the bath tub. 

 STEP 4

Blue mark

Inner
core

Cold water outlet

Wrench
socket

Hot water outlet

Towards bathtub

Red mark

Inner pipe(hot)

Tube Covers

Flange

M8 Screw

Escutcheon 

Inner pipe(cold)  Mounting holeM6 Screw

1. Carefully slide the escutcheon over the body.
2. Run the M6 screws through the flange mounting hole, attach O-rings to prevent screws from falling off 

during installation.*Please ensure the flange is installed the correct way up as shown.
3. Take off tube covers from inner pipe of faucet body.
4. Fix flange with M8 screws to faucet body firmly. 

O-rings



 STEP 5

O P E R A T I N G  S P E C I F I C A T I O N SF 8 0 2 A - 2 T K
kascade floor mount tub filler

WESTOVER, INC 13305 B STREET OMAHA, NEBRASKA 68144 WWW.ARTOS.US.COM T:877.927.8679
©2020 ed. All technical and pricing information is subject to change without prior notice. To confirm accuracy check with Artos customer service.

S4 Wrench
(supplied)

M6 Bolt

M6 threaded hole

1. Confirm the inner core is in the correct
position (with the hot side facing the
bath tub) as directed in Step #3.

2. Connect the Body to the Rough with
the M6 Bolts using the S4 Wrench
(Supplied).

3. Slide escutcheon into place.

*Please note before
installing the body
flush to clear debris



 STEP 6

O P E R A T I N G  S P E C I F I C A T I O N SF 8 0 2 A - 2 T K
kascade floor mount tub filler

WESTOVER, INC 13305 B STREET OMAHA, NEBRASKA 68144 WWW.ARTOS.US.COM T:877.927.8679
©2020 ed. All technical and pricing information is subject to change without prior notice. To confirm accuracy check with Artos customer service.

Faucet body

Protective cover

Hand shower
holder

Shower outlet

M5 x 5 Screw

1. Take off the protective cover.

2. Insert the hand shower holder
into the faucet body (the
shower outlet is face down)

3. Then tighten with M5 x 5
screws to faucet body firmly.

 STEP 7

Hand shower

Assemble the Hose and Hand Shower



O P E R A T I N G  S P E C I F I C A T I O N SF 8 0 2 A - 2 T K
kascade floor mount tub filler

WESTOVER, INC 13305 B STREET OMAHA, NEBRASKA 68144 WWW.ARTOS.US.COM T:877.927.8679
©2020 ed. All technical and pricing information is subject to change without prior notice. To confirm accuracy check with Artos customer service.

 STEP 8

Install the rough flange onto the in-floor 
rough with the M6 screws as shown 

M6 Screw M6 

Rough flange 

In-floor rough 



O P E R A T I N G  S P E C I F I C A T I O N SF 8 0 2 A - 2 T K
kascade floor mount tub filler

WESTOVER, INC 13305 B STREET OMAHA, NEBRASKA 68144 WWW.ARTOS.US.COM T:877.927.8679
©2020 ed. All technical and pricing information is subject to change without prior notice. To confirm accuracy check with Artos customer service.

O P E R A T I N G  S P E C I F I C A T I O N SF 8 0 2 A - 2 T K
kascade floor mount tub filler

COVER
AERATOR BODY 
AERATOR 
AERATOR SEAL
FILTER
DIVERTER RING 
DIVERTER HANDLE 
TEMPERATURE HANDLE 
SET SCREW
S 2.5 WRENCH
HANDLE DRESS RING 
HANDLE BEZEL
SPRING
CARTRIDGE SECURING NUT 
CARTRIDGE
BODY
GASKET
S 2.5 WRENCH
SET SCREW
HAND SHOWER
HAND SHOWER HOLDER 
HAND SHOWER HOSE 
ESCUTCHEON 
M6 BOLT X4
TRIM FLANGE
CAPTIVE O-RING X4
M8 BOLT X4
M6 X 10 BOLT X4
ROUGH FLANGE

1
2
3
4
5
6
7
8
9
10
11
12
13
14
15
16
17
18
19
20
21
22
23
24
25
26
27
28
29

20.

21.

22.

23.

24.

25.

26.

28.

29.

1.

2.

13.
14.

15.
12.

10.

11.

9.

8.4.

3.

5. 6.

16.
18.

19.

7.

17.

27.



For best results, keep the following in mind to retain the high quality finish of your  
      faucets:

  Use a soft, dampened sponge or cloth. On no account should you use an abrasive 

material such as a brush, scouring pad or steel wool to clean surfaces.

  Test your cleaning agent solution on an inconspicuous area before applying to the 

entire product.

  Wipe surfaces clean and rinse completely with water immediately after applying 

cleaning agent.

  An ideal cleaning technique is to rinse faucet thoroughly and blot dry any water 

from the surface after each use.

L I M I T E D  L I F E T I M E  W A R R A N T Y

Artos® Limited Lifetime WarrantyArtos® faucets have been manufactured under 
the highest quality and manufacturing standards. Artos® faucets are guaranteed 
for life against leaks and manufacturing defects for as long as the original consum-
er purchaser owns it.  This warranty applies to installations in the US, Canada and 
Mexico (North America). Commercial, Industrial or business uses are warranted for a 
period of one year from the original date of purchase.  

This warranty is non-transferable and applies exclusively to the original owner or 
end-user.If a defect is found during normal use, Artos® will, at its election, repair, 
replace or make an appropriate adjustment. Damage caused by accident, misuse, 
abuse, improper installation or alteration will void the warranty. This warranty does 
not cover replacement parts where damage is caused by normal wear and tear. 
Labor charges, installation or other incidental or consequential costs will not be cov-
ered. 

Replacement parts that qualify for warranty repair can be obtained by contacting 
Artos® at 1-877-9ARTOS9 or by e-mail at info@artos.us.com.Proof of purchase 
(original sales receipt) from the original consumer purchaser must accompany all 
warranty claims. When submitting your claim in writing, please provide your name, 
address and telephone number.

ITEM NO.  F802A-2TK

®

WESTOVER, INC 13305 B STREET OMAHA, NEBRASKA 68144 WWW.ARTOS.US.COM T:877.927.8679
©2020 ed. All technical and pricing information is subject to change without prior notice. To confirm accuracy check with Artos customer service.

O P E R A T I N G  S P E C I F I C A T I O N SF 8 0 2 A - 2 T K
kascade floor mount tub filler


	Blank Page
	Blank Page
	Blank Page
	Blank Page
	Blank Page
	Blank Page
	Blank Page
	Blank Page
	Blank Page



